Qs.s) = Qols,s) + 5 max{Q(s', ") | are=(s',5")}
_ ifs=s¢eG
: { —cost(s,s’) else if arc(s,s')
4
1y
oW
Q(s.g) = -3
Q(s,a) = -2
= Q(ab) = Q(b.s)
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Q(s,s’) == Qu(s,s") + = max{Q(s' s") | arc—(s',s")}

ifs=s¢eG
—cost(s,s’) else if arc(s,s’)

Qgg) =1+ 3Q(g8)

A - Qgg) =2
1 1
@\1
Q(s,g) = -3
Q(s,a) = -2
= Q(ab) = Q(bs)
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Q(s,

s) =

Qo(s,s') + = max{Q(s' s") | arc=(s',s")}
ifs=s¢eG
—cost(s,s’) else if arc(s,s’)

Qg.g) =1+ 3Q(g.8)
- Qgg) =2

Q(sg) = —4+3Q(gg) =

-3
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Q(s,s’) = Qu(s, s)+ max{Q(s' s") | arc=(s',s")}

ifs=s¢eG
—cost(s,s’) else if arc(s,s’)

Qg.g) =1+ 3Q(g.8)
- Qgg) =2

Ly Q(s.g) = -4+ 3Q(g.8) = -3

@\1 Q(s.2) = ~1+ 3Q(a.b)

Q(a,b) = -1+ %Q(b S)
Q(b,s) = -1+ 5max{Q(s,a),—3}
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Qs,s) = Qols. ) + 5 max{Q(s',s") | are=(s' )
_ ifs=s¢eG
' { —cost(s,s’) else if arc(s,s’)
Qgg) =1+35Q(gg)
. . Q(g.g) =2
Ly Qsg) = —4+3Q(gg) = -3
@\1 Q(S'a) =-1+ %Q(a'b)
Q(ab) = -1+ %Q(b,s)
Q(b,s) = —1 + 3max{Q(s,a),—3}
Q(s,g) = -3 Case 1: Q(s,a) > —3
Q(s,a) = -2 Case 2: Q(s,a) < —3
= Q(a,b) = Q(b,s) contradiction
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Q(s,s') = Qo(s,s') + % max{Q(s’,s") | arc—(s',s")}

N 1 fs=s¢e€G
Qo(s,s") = { —cost(s,s’) else if arc(s,s’)
6
2

——

Q(s.ig) = -5

Qag) =—4

= Q(sa)
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https://www.scss.tcd.ie/Tim.Fernando/AI/qpf3

Q(s,s') = Qo(s,s') + % max{Q(s’,s") | arc—(s',s")}

N 1 ifs=s¢eG
Qo(S,S ) T { —COSt(S,SI) else if arC(57 51)
Q(g.g) =1+ 1Q(g.g)
Qg.g) =
6
2
0
Q(s,g) = -5
Qa,g) = —4
= Q(s,a)
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https://www.scss.tcd.ie/Tim.Fernando/AI/qpf3

Q(s,s') = Qo(s,s') + % max{Q(s’,s") | arc—(s',s")}

N 1 ifs=s¢eG
Qo(S,S ) T { —COSt(S,SI) else if arC(57 51)
Q(g.g) =1+ 1Q(g.g)
Qgg) =
6 Q(s,g) = -6+ %Q(g,g) = =5
2
——
Q(s.g) =5
Qlag) =4
= Q(s,a)
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https://www.scss.tcd.ie/Tim.Fernando/AI/qpf3

Q(s,s') = Qo(s,s') + % max{Q(s’,s") | arc—(s',s")}

N 1 ifs=s¢eG
Qo(S,S ) T { —COSt(S,SI) else if arC(57 51)
Q(g.g) =1+ 1Q(g.g)
Qg.g) =
6 Q(s,g) = -6+ %Q(g,g) = =5
2
i Q(s,a) = —2+ 1Q(ag)
@ @ Qa,g) = —5+ 2%Q(g,g)
Q(sg) = -5
QRag) = —4
= Q(s,a)
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https://www.scss.tcd.ie/Tim.Fernando/AI/qpf3

Q(s,s') = Qu(s, s')—i—%max{Q( '.s") | arc=(s',s")}
1 ifs=s¢eG
Qofs, ) = { —cost(s,s’) else if arc(s,s’)
Qle.g) =1+ 3Q(gg)
Q(e.8) =
6 Q(sig) = —6+3Q(gg) = —5
2
5 Q(s,a) = -2+ 5 Q(a g)
() () Qee- 5+ 0
Q(s,g) = -5 Compare to iterates
Qag) = —4 Qny1(s,s') = Qols,s')+
= Q(s,a) 2 max{Qx(s',s") | arc=(s',s")}
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